The following information represents the FINAL (as of Feb 12th, 2021) Partner status for each active unit in the Great Southwest Council. Financial information has been updated to reflect 2020 Friends of Scouting (FOS) donations and Gondola Patrol recurring donations as of February 12th. Popcorn sales data is through December 15th, and beef jerky sales information is as of December 23rd. JTE and recharter status is as of February 12th.

## Several notes on the contents:

In past reports, FOS donations have typically been presented based on the amount pledged for the year, as the pledge/paid ratio has historically been very high. However, due to the pandemic's strain on family and individual finances, we've noticed an increase in the amount of pledges outstanding. As a result, we're presenting data showing the amount of FOS pledges paid, and the amount of outstanding (unpaid to-date) pledges. Please note that the unpaid portion is <u>NOT</u> included in the total amount of financial contributions column.

Any questions on the contents of the Partnership report should be sent to the District Executive for your unit, or the Council Commissioner, Dale Balmer, at dbalmer8@comcast.net

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Sco Partners Goal	hip	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Rio Grande	Pack	8	N/A	Albuquerque Br	12	\$ 175	5.00	\$2,100.00	\$150.00	\$50.00	
Rio Grande	Pack	12	N/A	Paradise Hills	49	\$ 175	5.00	\$8,575.00	\$2,304.92	\$10.00	\$1,350.00
Rio Grande	Pack	17	N/A	Rio Rancho Uni	54	\$ 175	5.00	\$9,450.00	\$2,700.00	\$120.00	
Rio Grande	Pack	40	N/A	Veterans Helpi	18	\$ 175	5.00	\$3,150.00			\$1,620.00
Rio Grande	Pack	88	N/A	Gabaldon Mortuary	14	\$ 175	5.00	\$2,450.00			
Rio Grande	Pack	100	N/A	Ventana Ranch	28	\$ 175	5.00	\$4,900.00	\$175.00		\$1,013.00
Rio Grande	Pack	114	N/A	Ventana Ranch	36	\$ 175	5.00	\$6,300.00	\$1,175.00	\$50.00	
Rio Grande	Pack	116	N/A	Peralta United	32	\$ 175	5.00	\$5,600.00	\$1,525.00	\$90.00	
Rio Grande	Pack	121	N/A	Paradise Hills	12	\$ 175	5.00	\$2,100.00			
Rio Grande	Pack	147	N/A	Enchanted Hill	21	\$ 175	5.00	\$3,675.00	\$50.00		\$900.00
Rio Grande	Pack	174	N/A	Sierra Vista P	34	\$ 175	5.00	\$5,950.00	\$912.37	\$127.63	
Rio Grande	Pack	360	N/A	Friends of the	23	\$ 175	5.00	\$4,025.00	\$350.00	\$175.00	
Rio Grande	Pack	417	N/A	St Francis Epi	13	\$ 175	5.00	\$2,275.00			

Boy Scouts of America

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date		Unit Type	Unit #	Scouts BSA Unit Type
		\$150.00	(1950.00)	7.1%	YES-17, 18. 19		Submitted	No Financial JTE	Pack	8	N/A
\$2,084.40		\$5,739.32	(2835.68)	66.9%	YES-17, 18. 19	Gold	Posted	No Financial	Pack	12	N/A
\$1,528.44	\$285.00	\$4,513.44	(4936.56)	47.8%	YES-17, 18. 19		Submitted	No Financial ITE	Pack	17	N/A
		\$1,620.00	(1530.00)	51.4%	Met		Online	No Financial JTE Recharter	Pack	40	N/A
		\$0.00	(2450.00)	0.0%	YES-18		Submitted	No Financial JTE	Pack	88	N/A
		\$1,188.00	(3712.00)	24.2%	YES-17, 18		Online	No Financial JTE Recharter	Pack	100	N/A
\$1,702.40		\$2,877.40	(3422.60)	45.7%	YES-17, 18, 19		Submitted	No Financial JTE	Pack	114	N/A
\$843.45		\$2,368.45	(3231.55)	42.3%	YES-18	Gold	Posted	No Financial	Pack	116	N/A
		\$0.00	(2100.00)	0.0%	YES-17, 18. 19	N/A- Dropping	Dropping	NO- Dropping	Pack	121	N/A
\$26.40		\$976.40	(2698.60)	26.6%	YES-17, 18. 19		Submitted	No Financial JTE	Pack	147	N/A
\$3,510.98		\$4,423.35	(1526.65)	74.3%	YES-17, 18. 19	Gold	Posted	No Financial	Pack	174	N/A
\$369.60	\$810.00	\$1,529.60	(2495.40)	38.0%	YES-17		Submitted	No Financial JTE	Pack	360	N/A
\$77.55		\$77.55	(2197.45)	3.4%	YES-17, 18. 19	Bronze	Posted	No Financial	Pack	417	N/A

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Scout Partnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Rio Grande	Pack	611	N/A	St Therese Cat	14	\$ 175.00	\$2,450.00			
Rio Grande	Pack	702	N/A	San Ysidro Cat	26	\$ 175.00	\$4,550.00	\$0.00	\$75.00	
Rio Grande	Pack	708	N/A	Coronado Optim	10	\$ 175.00	\$1,750.00			
Rio Grande	Pack	714	N/A	Elks Lodge 250	12	\$ 175.00	\$2,100.00	\$0.00	\$100.00	
Rio Grande	Pack	828	N/A	Rotary Club of	24	\$ 175.00	\$4,200.00	\$1,700.00		
Rio Grande	Pack	900	N/A	Mesa View Unit	11	\$ 175.00	\$1,925.00			
Rio Grande	Pack	1509	N/A	Macedonia Bapt	10	\$ 175.00	\$1,750.00			
Rio Grande	Pack	1572	N/A	Pueblo of Isle	9	\$ 175.00	\$1,575.00			
Rio Grande	Pack	1974	N/A	St Thomas Aqui	14	\$ 175.00	\$2,450.00	\$2,450.00	\$0.00	
Rio Grande	Troop	7	Воу	Strong and Courag	7	\$ 175.00	\$1,225.00	\$530.00	\$0.00	
Rio Grande	Troop	9	Boy	Albuquerque Br	16	\$ 175.00	\$2,800.00	\$750.00		
Rio Grande	Troop	17	Boy	Rio Rancho Uni	24	\$ 175.00	\$4,200.00	\$6,025.00		
Rio Grande	Troop	17	Girl	Rio Rancho Uni	5	\$ 175.00	\$875.00	\$875.00		
Rio Grande	Troop	24	Boy	Community of Joy	14	\$ 175.00	\$2,450.00	\$105.00	\$0.00	
Rio Grande	Troop	24	Girl	Community of Joy	7	\$ 175.00	\$1,225.00	\$150.00	\$50.00	
Rio Grande	Troop	40	Boy	BPOE Elks Lod	18	\$ 175.00	\$3,150.00	\$300.00		\$1,635.00

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
		\$0.00	(2450.00)	0.0%	NO		Not online	No Financial JTE Recharter	Pack	611	N/A
\$68.40		\$68.40	(4481.60)	1.5%	YES-17, 18	None	Posted	No Financial	Pack	702	N/A
		\$0.00	(1750.00)	0.0%	YES-18, 19		Posted	No Financial JTE	Pack	708	N/A
\$100.70		\$100.70	(1999.30)	4.8%	YES-17, 18, 19	Bronze	Posted	No Financial	Pack	714	N/A
\$80.85		\$1,780.85	(2419.15)	42.4%	YES-17, 18. 19		Submitted	No Financial JTE	Pack	828	N/A
	\$800.00	\$800.00	(1125.00)	41.6%	YES-17, 18. 19	N/A- Dropping	Dropping?	NO- Dropping	Pack	900	N/A
		\$0.00	(1750.00)	0.0%	NO	N/A- Dropping	Dropping	NO- Dropping	Pack	1509	N/A
		\$0.00	(1575.00)	0.0%	YES-18, 19	**	Not online	No Financial JTE Recharter	Pack	1572	N/A
\$91.20		\$2,541.20	91.20	103.7%	YES-17, 18, 19	Bronze	Posted	Yes	Pack	1974	N/A
	\$195.00	\$725.00	(500.00)	59.2%	New Unit-formed 2019	N/A- Dropping	Dropping	NO- Dropping	Troop	7	Boy
		\$750.00	(2050.00)	26.8%	YES-19 YES-20GV-3		Submitted	No Financial JTE	Troop	9	Boy
\$472.60	\$225.00	\$6,722.60	2522.60	160.1%	YES-18, 19 YES-20GV-11	Silver	Posted	Yes	Troop	17	Boy
		\$875.00	0.00	100.0%	New Unit-formed 2019 YES-20GV-5	Gold	Posted	Yes	Troop	17	Girl
\$637.05		\$742.05	(1707.95)	30.3%	New Unit-formed 2019	Gold	Submitted	No Financial	Troop	24	Boy
		\$150.00	(1075.00)	12.2%	New Unit-formed 2019	Gold	Submitted	No Financial	Troop	24	Girl
	\$240.00	\$2,175.00	(975.00)	69.0%	YES-17, 18	Bronze	Posted	No Financial	Troop	40	Boy

Boy Scouts of America

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Par	er Scout etnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Rio Grande	Troop	40	Girl	BPOE Elks Lod	3	\$	175.00	\$525.00	\$250.00		\$525.00
Rio Grande	Troop	100	Boy	Professional C	4	\$	175.00	\$700.00			\$225.00
Rio Grande	Troop	106	Воу	Knights of Col	11	\$	175.00	\$1,925.00	\$100.00		
Rio Grande	Troop	116	Boy	Peralta Memori	18	\$	175.00	\$3,150.00	\$4,765.00	\$45.00	
Rio Grande	Troop	126	Boy	Cross Of Hope	28	\$	175.00	\$4,900.00	\$575.00		
Rio Grande	Troop	174	Boy	Paradise Hills	45	\$	175.00	\$7,875.00	\$1,510.50	\$332.00	
Rio Grande	Troop	360	Воу	Friends of the	24	\$	175.00	\$4,200.00	\$150.00		
Rio Grande	Troop	417	Boy	St. Francis Ep	22	\$	175.00	\$3,850.00	\$375.00	\$700.00	
Rio Grande	Troop	417	Girl	St. Francis Ep	2	\$	175.00	\$350.00			
Rio Grande	Troop	702	Boy	San Ysidro Cat	12	\$	175.00	\$2,100.00	\$1,035.15	\$0.00	\$360.00
Rio Grande	Troop	703	Boy	Rio Rancho Rot	12	\$	175.00	\$2,100.00	\$2,100.00	\$50.00	
Rio Grande	Troop	708	Boy	Coronado Optim	8	\$	175.00	\$1,400.00	\$1,503.00		
Rio Grande	Troop	714	Воу	BPOE Elks Lodg	28	\$	175.00	\$4,900.00	\$1,630.00	\$250.00	

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
		\$775.00	250.00	147.6%	New Unit-formed 2019	Gold	Submitted	Yes	Troop	40	Girl
		\$225.00	(475.00)	32.1%	YES-18	N/A- Dropping	Dropping	NO- Dropping	Troop	100	Boy
		\$100.00	(1825.00)	5.2%	YES-19		Posted	No Financial JTE	Troop	106	Boy
\$546.80	\$270.00	\$5,581.80	2431.80	177.2%	YES-18 YES-20GV-15	Gold	Posted	Yes	Troop	116	Boy
\$1,126.85		\$1,701.85	(3198.15)	34.7%	YES-20GV-3	Bronze	Posted	No Financial	Troop	126	Boy
\$393.30	\$105.00	\$2,008.80	(5866.20)	25.5%	YES-17, 18 YES-20GV-27	Gold	Posted	No Financial	Troop	174	Boy
\$110.55		\$260.55	(3939.45)	6.2%	YES-18		Submitted	No Financial JTE	Troop	360	Boy
\$493.20	\$255.00	\$1,123.20	(2726.80)	29.2%	YES-19 YES-20GV-8	Gold	Posted	No Financial	Troop	417	Boy
\$23.40		\$23.40	(326.60)	6.7%	New Unit-formed 2019	Gold	Posted	No Financial	Troop	417	Girl
\$782.10		\$2,177.25	77.25	103.7%	YES-19 YES-20GV-18	Gold	Submitted	Yes	Troop	702	Boy
		\$2,100.00	0.00	100.0%	YES-18 YES-20GV-1	Bronze	Submitted	Yes	Troop	703	Boy
\$66.50		\$1,569.50	169.50	112.1%	YES-19 YES-20GV-9	Silver	Posted	Yes	Troop	708	Boy
\$24.80	\$555.00	\$2,209.80	(2690.20)	45.1%	YES-17, 18, 19 YES-20GV-8	Gold	Submitted	No Financial	Troop	714	Boy

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Par	r Scout tnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Rio Grande	Troop	831	Girl	Peralta Memori	3	\$	175.00	\$525.00	\$670.00	\$135.00	
Rio Grande	Troop	1010	Girl	Paradise Hills	5	\$	175.00	\$875.00	\$175.00		
Rio Grande	Troop	1919	Girl	Elks Lodge 250	13	\$	175.00	\$2,275.00	\$2,168.35	\$175.00	
Rio Grande	Troop	1974	Boy	St Thomas Aqui	8	\$	175.00	\$1,400.00	\$1,485.00	\$175.00	
Rio Grande	Troop	2010	Воу	Church of the	10	\$	175.00	\$1,750.00	7,3,000		
Rio Grande	Crew	17	N/A	Rio Rancho Uni	4	\$	175.00	\$700.00	\$175.00		
Rio Grande	Crew	126	N/A	Cross Of Hope	2	\$	175.00	\$350.00			
Rio Grande	Crew	703	N/A	Rio Rancho Rot	2	\$	175.00	\$350.00			
Rio Grande	Ship	17	N/A	o Grande Yacht Clu	5	\$	175.00	\$875.00			
Rio Grande	Post	33	N/A	Cibola County Fire	4	\$	175.00	\$700.00			
Rio Grande	Post	911	N/A	City of Rio Rancho	8	\$	175.00	\$1,400.00			
San Juan Mtns	Pack	23	N/A	Kirtland Scouting	19	\$	175.00	\$3,325.00			
San Juan Mtns	Pack	152	N/A	First Presbyte	11	\$	175.00	\$1,925.00			

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
\$15.95		\$685.95	160.95	130.7%	New Unit-formed 2020 YES-20GV-2	Gold	Posted	Yes	Troop	831	Girl
		\$175.00	(700.00)	20.0%	YES-20GV-8	Gold	Submitted	No Financial	Troop	1010	Girl
\$126.40		\$2,294.75	19.75	100.9%	YES-20GV-7	Gold	Submitted	Yes	Troop	1919	Girl
		\$1,485.00	85.00	106.1%	YES-2020	Bronze	Posted	Yes	Troop	1974	Boy
		\$0.00	(1750.00)	0.0%	NO-15 or 16		Submitted	No Financial JTE Camping	Troop	2010	Boy
		\$175.00	(525.00)	25.0%	NO-2019 JTE #4: None	N/A- Dropping	Dropping	NO- Dropping	Crew	17	N/A
		\$0.00	(350.00)	0.0%	NO-2019 JTE #4: None	N/A- Dropping	Dropping	NO- Dropping	Crew	126	N/A
		\$0.00	(350.00)	0.0%	YES-2019 JTE #4: Bronze		Not online	No Financial JTE Recharter	Crew	703	N/A
		\$0.00	(875.00)	0.0%	New Unit-formed 2019	N/A- Dropping	Dropping?	NO- Dropping	Ship	17	N/A
		\$0.00	(700.00)	0.0%	New Unit-formed 2020		Later	No Financial JTE	Post	33	N/A
		\$0.00	(1400.00)	0.0%	New Unit-formed 2020		Submitted	No Financial JTE	Post	911	N/A
		\$0.00	(3325.00)	0.0%	New Unit-formed 2019	N/A- Dropping	Dropping	NO- Dropping	Pack	23	N/A
		\$0.00	(1925.00)	0.0%	YES-17, 18, 19	-	Submitted	No Financial JTE	Pack	152	N/A

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Scout Partnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
San Juan Mtns	Pack	179	N/A	Burnham Bros F	14	\$ 175.00	\$2,450.00			
San Juan Mtns	Pack	225	N/A	Cortez Elks Lo	18	\$ 175.00	\$3,150.00			
San Juan Mtns	Pack	321	N/A	BPOE Elks Lodg	11	\$ 175.00	\$1,925.00			
San Juan Mtns	Pack	324	N/A	First United M	12	\$ 175.00	\$2,100.00			
San Juan Mtns	Pack	502	N/A	BPOE Elks Lodg	29	\$ 175.00	\$5,075.00	\$4,510.00		
San Juan Mtns	Pack	508	N/A	Florida Grange	19	\$ 175.00	\$3,325.00	\$1,372.30	\$150.00	\$720.00
San Juan Mtns	Pack	513	N/A	Mancos Scouting	9	\$ 175.00	\$1,575.00		·	
San Juan Mtns	Pack	807	N/A	United Met	17	\$ 175.00	\$2,975.00			
San Juan Mtns	Troop	23	Girl	Kirtland Scouting	32	\$ 175.00	\$5,600.00			
San Juan Mtns	Troop	33	Girl	Cortez Elks Lo	2	\$ 175.00	\$350.00			
San Juan Mtns	Troop	152	Boy	First Presbyte	10	\$ 175.00	\$1,750.00			
San Juan Mtns	Troop	152	Girl	First Presbyte	5	\$ 175.00	\$875.00			
San Juan Mtns	Troop	175	Boy	Friends and Fam	5	\$ 175.00	\$875.00			

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
\$100.70	\$210.00	\$310.70	(2139.30)	12.7%	YES-16, 17, 18, 19		Submitted	No Financial JTE	Pack	179	N/A
		\$0.00	(3150.00)	0.0%	YES-17, 18, 19		Submitted	No Financial JTE	Pack	225	N/A
\$38.75		\$38.75	(1886.25)	2.0%	YES-17, 18, 19		Submitted	No Financial JTE	Pack	321	N/A
\$492.90		\$492.90	(1607.10)	23.5%	YES-17, 18, 19	Gold	Posted	No Financial	Pack	324	N/A
		\$4,510.00	(565.00)	88.9%	YES-17, 18, 19		Submitted	No Financial JTE	Pack	502	N/A
\$1,292.40	\$405.00	\$3,789.70	464.70	114.0%	YES-17, 18, 19	Gold	Posted	Yes	Pack	508	N/A
		\$0.00	(1575.00)	0.0%	New Unit-formed 2019	N/A- Dropping	Dropping	NO- Dropping	Pack	513	N/A
\$173.25		\$173.25	(2801.75)	5.8%	New Unit-formed 2020		Online	No Financial JTE Recharter	Pack	<b>80</b> 7	N/A
		\$0.00	(5600.00)	0.0%	New Unit-formed 2019	N/A- Dropping	Dropping	NO- Dropping	Troop	23	Girl
		\$0.00	(350.00)	0.0%	YES-20GV-3		Submitted	No Financial JTE	Troop	33	Girl
		\$0.00	(1750.00)	0.0%	YES-17	Gold	Submitted	No Financial	Troop	152	Boy
		\$0.00	(875.00)	0.0%	New Unit-formed 2019	Silver	Submitted	No Financial	Troop	152	Girl
		\$0.00	(875.00)	0.0%	New Unit-formed 2019	N/A- Dropping	Dropping	NO- Dropping	Troop	175	Boy

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Scout Partnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
San Juan Mtns	Troop	179	Boy	Burnham Bros F	16	\$ 175.00	\$2,800.00			
San Juan Mtns	Troop	225	Boy	Cortez Lodge 1	11	\$ 175.00	\$1,925.00			
San Juan Mtns	Troop	321	Воу	BPOE Elks Lodg	12	\$ 175.00	\$2,100.00	\$175.00		
San Juan Mtns	Troop	324	Воу	First United M	12	\$ 175.00	\$2,100.00	\$175.00		
San Juan Mtns	Troop	325	Воу	Aztec Presbyte	14	\$ 175.00	\$2,450.00	\$500.00		
San Juan Mtns	Troop	501	Boy	First Presbyte	17	\$ 175.00	\$2,975.00	\$1,525.00		
San Juan Mtns	Troop	506	Boy	Calvary Presby	8	\$ 175.00	\$1,400.00			
San Juan Mtns	Troop	537	Girl	Christ The Kin	5	\$ 175.00	\$875.00			
San Juan Mtns	Troop	538	Boy	Christ The Kin	19	\$ 175.00	\$3,325.00	\$350.00		\$1,350.00
San Juan Mtns	Troop	807	Boy	United Methodi	12	\$ 175.00	\$2,100.00			
San Juan Mtns	Crew	325	N/A	Aztec Presbyte	3	\$ 175.00	\$525.00			

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
		\$0.00	(2800.00)	0.0%	YES-17	Gold	Posted	No Financial	Troop	179	Boy
		\$0.00	(1925.00)	0.0%	YES-18, 19		Submitted	No Financial JTE	Troop	225	Boy
\$159.65		\$334.65	(1765.35)	15.9%	YES-17, 18, 19		Submitted	No Financial JTE	Troop	321	Boy
\$165.30	\$255.00	\$595.30	(1504.70)	28.3%	YES-18 YES-20GV-4	Gold	Posted	No Financial	Troop	324	Boy
\$250.80		\$750.80	(1699.20)	30.6%	YES-18		Submitted	No Financial JTE	Troop	325	Boy
\$1,270.80	\$1,110.00	\$3,905.80	930.80	131.3%	YES-19 YES-20GV-5	Gold	Posted	Yes	Troop	501	Boy
		\$0.00	(1400.00)	0.0%	YES-18		Posted	No Financial JTE	Troop	506	Boy
		\$0.00	(875.00)	0.0%	New Unit-formed 2019		Submitted	No Financial JTE	Troop	537	Girl
\$406.30		\$2,106.30	(1218.70)	63.3%	YES-18 YES-20GV-4		Submitted	No Financial JTE	Troop	538	Boy
\$110.55		\$110.55	(1989.45)	5.3%	YES-18 YES-20GV-1	None	Submitted	No Financial	Troop	807	Boy
\$286.20		\$286.20	(238.80)	54.5%	YES-2019 JTE #4: Gold		Submitted	No Financial JTE	Crew	325	N/A

Boy Scouts of America

Beef Jerky Proceeds towards Partnership Goal

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	er Scout rtnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friend of Scouting (pledged but yet paid)
San Juan Mtns	Crew	612	N/A	Saint Patrick'	9	\$ 175.00	\$1,575.00	\$5,300.00	
Sandia	Pack	85	N/A	AFSA - Air For	31	\$ 175.00	\$5,425.00	\$0.00	\$25.00
Sandia	Pack	166	N/A	Faith Lutheran	49	\$ 175.00	\$8,575.00		
Sandia	Pack	241	N/A	Friends of Cub	56	\$ 175.00	\$9,800.00		
Sandia	Pack	280	N/A	Annunciation P	35	\$ 175.00	\$6,125.00		
Sandia	Pack	286	N/A	St Johns Unite	12	\$ 175.00	\$2,100.00	\$0.00	\$30.00
Sandia	Pack	409	N/A	Evening Optimi	46	\$ 175.00	\$8,050.00		
Sandia	Pack	411	N/A	E. G. Ross Ele	18	\$ 175.00	\$3,150.00	\$295.00	\$325.00
Sandia	Pack	416	N/A	Arroyo Del Oso	18	\$ 175.00	\$3,150.00	\$1,175.00	
Sandia	Pack	442	N/A	St Paul's Unit	38	\$ 175.00	\$6,650.00	\$2,400.00	
Sandia	Pack	491	N/A	Dennis Chavez	35	\$ 175.00	\$6,125.00	\$760.00	\$175.00
Sandia	Pack	495	N/A	Los Altos Chri	23	\$ 175.00	\$4,025.00	\$200.00	

N/A

N/A

Good Shepherd

Jewish Communi

640

990

15

33

\$ 175.00

\$ 175.00

\$2,625.00

\$5,775.00

\$25.00

\$570.00

\$325.00

Sandia

Sandia

Pack

Pack

Great Southwest Council

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
	\$300.00	\$5,600.00	4025.00	355.6%	YES-2019 JTE #4: Gold YES-20GV-1	Gold	Submitted	Yes	Crew	612	N/A
\$473.10	\$140.00	\$613.10	(4811.90)	11.3%	YES-17, 18, 19	Silver	Submitted	No Financial	Pack	85	N/A
\$1,632.10		\$1,632.10	(6942.90)	19.0%	YES-17, 18, 19	Gold	Posted	No Financial	Pack	166	N/A
\$156.55	\$585.00	\$741.55	(9058.45)	7.6%	YES-17, 18, 19	Gold	Posted	No Financial	Pack	241	N/A
\$282.10		\$282.10	(5842.90)	4.6%	YES-17	Bronze	Submitted	No Financial	Pack	280	N/A
		\$0.00	(2100.00)	0.0%	YES-18, 19	N/A- Dropping	Dropping	NO- Dropping	Pack	286	N/A
		\$0.00	(8050.00)	0.0%	YES-17, 18		Posted	No Financial JTE	Pack	409	N/A
\$70.95		\$365.95	(2784.05)	11.6%	YES-17, 18, 19		Not online	No Financial JTE Recharter	Pack	411	N/A
		\$1,175.00	(1975.00)	37.3%	YES-17, 18		Not online	No Financial JTE Recharter	Pack	416	N/A
\$4,309.02		\$6,709.02	59.02	100.9%	YES-17, 19	Gold	Posted	Yes	Pack	442	N/A
\$29.70		\$789.70	(5335.30)	12.9%	YES-19		Submitted	No Financial JTE	Pack	491	N/A
\$77.90		\$277.90	(3747.10)	6.9%	YES-18, 19		Submitted	No Financial JTE	Pack	495	N/A
\$203.05	\$360.00	\$588.05	(2036.95)	22.4%	YES-18, 19	Silver	Submitted	No Financial	Pack	640	N/A
\$967.10	\$330.00	\$1,867.10	(3907.90)	32.3%	YES-17, 18, 19	Silver	Posted	No Financial	Pack	990	N/A

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Scout Partnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Sandia	Troop	1	Boy	Sandia Presbyt	36	\$ 175.00	\$6,300.00	\$175.00		
Sandia	Troop	3	Воу	Immanuel Presb	23	\$ 175.00	\$4,025.00	\$500.00		
Sandia	Troop	29	Boy	St Chad's Epis	16	\$ 175.00	\$2,800.00	\$925.00		
Sandia	Troop	85	Boy	Kirtland CGOC	9	\$ 175.00	\$1,575.00			
Sandia	Troop	134	Воу	Central United	4	\$ 175.00	\$700.00	\$350.00	\$750.00	\$135.00
Sandia	Troop	166	Boy	Faith Lutheran	26	\$ 175.00	\$4,550.00	\$2,333.75	\$200.00	\$1,890.00
Sandia	Troop	185	Boy	Prince of Peac	15	\$ 175.00	\$2,625.00	\$250.00		
Sandia	Troop	185	Girl	Prince of Peac	3	\$ 175.00	\$525.00			
Sandia	Troop	211	Boy	Legacy Dental	13	\$ 175.00	\$2,275.00			
Sandia	Troop	215	Boy	Friends of Eagles	11	\$ 175.00	\$1,925.00			
Sandia	Troop	220	Воу	Covenant Unite	35	\$ 175.00	\$6,125.00	\$2,325.00	\$325.00	

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
		\$175.00	(6125.00)	2.8%	NO	Gold	Submitted	No Financial Camping	Troop	1	Boy
\$503.75	\$95.00	\$1,098.75	(2926.25)	27.3%	YES-20GV-4		Online	No Financial JTE Recharter	Troop	3	Boy
		\$925.00	(1875.00)	33.0%	YES-18, 19 YES-20GV-2	Gold	Posted	No Financial	Troop	29	Boy
\$310.20	\$305.00	\$615.20	(959.80)	39.1%	YES-17, 19		Not online	No Financial JTE Recharter	Troop	85	Boy
		\$485.00	(215.00)	69.3%	NO		Posted	No Financial Camping JTE	Тгоор	134	Boy
\$326.25		\$4,550.00	0.00	100.0%	YES-18, 19 YES-20GV-7	Gold	Submitted	Yes	Troop	166	Boy
\$140.60		\$390.60	(2234.40)	14.9%	YES-17 YES-20GV-3		Submitted	No Financial JTE	Troop	185	Boy
		\$0.00	(525.00)	0.0%	New Unit-formed 2019		Submitted	No Financial JTE	Troop	185	Girl
		\$0.00	(2275.00)	0.0%	New Unit-formed 2019		Submitted	No Financial JTE	Troop	211	Boy
		\$0.00	(1925.00)	0.0%	New Unit-formed 2019		Not online	No Financial JTE Recharter	Troop	215	Boy
\$1,044.00	\$450.00	\$3,819.00	(2306.00)	62.4%	YES-17 YES-20GV-29	Gold	Posted	No Financial	Troop	220	Boy

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Scou Partnersh Goal		2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Sandia	Troop	220	Girl	Covenant Unite	11	\$ 175.	00 \$1,925.00			
Sandia	Troop	280	Воу	Annunciation P	17	\$ 175.	00 \$2,975.00	\$150.00		
Sandia	Troop	285	Воу	St Pauls Unite	24	\$ 175.	00 \$4,200.00	\$1,250.00	\$100.00	
Sandia	Troop	286	Boy	St Johns Unite	6	\$ 175.	00 \$1,050.00			
Sandia	Troop	395	Boy	St Bernadette	19	\$ 175.	00 \$3,325.00	\$2,444.05	\$150.00	
Sandia	Troop	410	Воу	Prince Of Peac	22	\$ 175.	00 \$3,850.00	\$2,975.00	\$180.00	
Sandia	Troop	436	Воу	Albuquerque Br	7	<b>\$</b> 175.	00 \$1,225.00			
Sandia	Troop	444	Boy	Parents Of Tro	15	\$ 175.	00 \$2,625.00	\$3,375.00	\$1,050.00	
Sandia	Troop	459	Boy	Los Altos Chri	24	\$ 175.	00 \$4,200.00	\$145.82	\$179.18	\$540.00
Sandia	Troop	459	Girl	Los Altos Chri	12	\$ 175.	00 \$2,100.00			
Sandia	Troop	465	Boy	arents for Troop 46	17	\$ 175.	00 \$2,975.00			
Sandia	Troop	505	Boy	St Stephens Un	22	\$ 175.	00 \$3,850.00	\$1,700.04		

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
\$89.10		\$89.10	(1835.90)	4.6%	YES-20GV-10	Bronze	Posted	No Financial	Troop	220	Girl
		\$150.00	(2825.00)	5.0%	YES-19 YES-20GV-3		Posted	No Financial JTE	Troop	280	Boy
\$1,179.00		\$2,429.00	(1771.00)	57.8%	YES-19		Posted	No Financial JTE	Troop	285	Boy
	\$210.00	\$210.00	(840.00)	20.0%	YES-17	N/A- Dropping	Dropping	NO- Dropping	Troop	286	Boy
\$651.70	\$315.00	\$3,410.75	85.75	102.6%	YES-2020 YES-20GV-23	Silver	Submitted	Yes	Troop	395	Boy
\$19.00		\$2,994.00	(856.00)	77.8%	YES-17, 18 YES-20GV-11	Gold	Posted	No Financial	Troop	410	Boy
		\$0.00	(1225.00)	0.0%	NO		Online	No Financial JTE Recharter	Troop	436	Boy
		\$3,375.00	750.00	128.6%	YES-18 YES-20GV-10	Gold	Posted	Yes	Troop	444	Boy
\$57.75		\$743.57	(3456.43)	17.7%	YES-19 YES-20GV-8		Submitted	No Financial ITE	Troop	459	Boy
	\$202.50	\$202.50	(1897.50)	9.6%	YES-20GV-6		Submitted	No Financial JTE	Troop	459	Girl
	\$75.00	\$75.00	(2900.00)	2.5%	YES-20GV-5		Posted	No Financial JTE	Troop	465	Boy
\$3,078.55		\$4,778.59	928.59	124.1%	YES-17, 19	Gold	Posted	Yes	Troop	505	Boy

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	er Scout rtnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Sandia	Troop	640	Boy	Good Shepherd	11	\$ 175.00	\$1,925.00	\$1,100.00		***************************************
Sandia	Troop	1172	Boy	Elks Lodge #11	10	\$ 175.00	\$1,750.00			
Sandia	Troop	1395	Girl	St Bernadette	8	\$ 175.00	\$1,400.00	\$747.50		
Sandia	Crew	11	N/A	Prince of Peac	2	\$ 175.00	\$350.00			
Sandia	Crew	395	N/A	St Bernadette	2	\$ 175.00	\$350.00			
Sandia	Crew	459	N/A	Los Altos Chri	2	\$ 175.00	\$350.00			
Sandia	Lab	1618	N/A	Greater Albuquerque	8	\$ 175.00	\$1,400.00			
Sangre de Cristo	Pack	20	N/A	Chamisa School	33	\$ 175.00	\$5,775.00			
Sangre de Cristo	Pack	22	N/A	Pajarito Lodge	48	\$ 175.00	\$8,400.00	\$365.00	\$350.00	
Sangre de Cristo	Pack	27	N/A	Los Alamos Lio	23	\$ 175.00	\$4,025.00	\$110.00		
Sangre de Cristo	Pack	53	N/A	Santa Maria De	22	\$ 175.00	\$3,850.00			
Sangre de Cristo	Pack	57	N/A	Santa Fe Waldorf	49	\$ 175.00	\$8,575.00			
Sangre de Cristo	Pack	68	N/A	Philmont Scout	21	\$ 175.00	\$3,675.00	\$400.00		
Sangre de Cristo	Pack	73	N/A	First United M	8	\$ 175.00	\$1,400.00			

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
\$1,169.10		\$2,269.10	344.10	117.9%	YES-17. 19	Gold	Submitted	Yes	Troop	640	Boy
		\$0.00	(1750.00)	0.0%	YES-19	N/A- Dropping	Dropping	NO- Dropping	Troop	1172	Boy
	\$652.50	\$1,400.00	0.00	100.0%	YES-20GV-16	Gold	Submitted	Yes	Troop	1395	Girl
		\$0.00	(350.00)	0.0%	NO		Submitted	No Financial JTE Camping	Crew	11	N/A
		\$0.00	(350.00)	0.0%	NO		Submitted	No Financial JTE Camping	Crew	395	N/A
		\$0.00	(350.00)	0.0%	YES-2019 JTE #4: Bronze		Submitted	No Financial	Crew	459	N/A
		\$0.00	(1400.00)	0.0%	New Unit-formed 2020		Not online	No Financial JTE Recharter	Lab	1618	N/A
		\$0.00	(5775.00)	0.0%	YES-17, 18, 19	N/A- Dropping	Dropping	NO- Dropping	Pack	20	N/A
\$1,240.20	\$270.00	\$1,875.20	(6524.80)	22.3%	YES-17, 18, 19	Gold	Posted	No Financial	Pack	22	N/A
\$31.35		\$141.35	(3883.65)	3.5%	YES-17, 18, 19	N/A- Dropping	Dropping	NO- Dropping	Pack	27	N/A
		\$0.00	(3850.00)	0.0%	YES-17		Not online	No Financial JTE Recharter	Pack	53	N/A
		\$0.00	(8575.00)	0.0%	New Unit-formed 2019		Submitted	No Financial JTE	Pack	57	N/A
\$3,554.90		\$3,954.90	279.90	107.6%	Met	Gold	Posted	Yes	Pack	68	N/A
		\$0.00	(1400.00)	0.0%	Met	N/A- Dropping	Dropping	NO- Dropping	Pack	73	N/A

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Scout Partnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Sangre de Cristo	Pack	98	N/A	Lions Club Of	5	\$ 175.00	\$875.00			
Sangre de Cristo	Troop	2	Girl	First United M	10	\$ 175.00	\$1,750.00	\$1,680.00	\$350.00	
Sangre de Cristo	Troop	22	Воу	IHM Catholic C	36	\$ 175.00	\$6,300.00	\$1,105.25	\$175.00	\$522.00
Sangre de Cristo	Troop	53	Boy	Santa Maria De	23	\$ 175.00	\$4,025.00	\$100.00		
Sangre de Cristo	Troop	57	Boy	Center for You	35	\$ 175.00	\$6,125.00	\$75.00		
Sangre de Cristo	Troop	57	Girl	Center for You	5	\$ 175.00	\$875.00			
Sangre de Cristo	Troop	68	Воу	Philmont Scout	22	\$ 175.00	\$3,850.00	\$175.00		
Sangre de Cristo	Troop	68	Girl	Philmont Scout	7	\$ 175.00	\$1,225.00	\$375.00		
Sangre de Cristo	Troop	71	Воу	IHM Catholic C	19	\$ 175.00	\$3,325.00	\$150.00		
Sangre de Cristo	Troop	98	Воу	Lions Club Of	2	\$ 175.00	\$350.00			
Sangre de Cristo	Troop	122	Boy	Methodist Men	30	\$ 175.00	\$5,250.00	\$2,170.00		

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
		\$0.00	(875.00)	0.0%	New Unit-formed 2019		Not online	No Financial JTE Recharter	Pack	98	N/A
\$197.60		\$1,877.60	127.60	107.3%	YES-20GV-7	Gold	Posted	Yes	Troop	2	Girl
\$1,864.50		\$3,491.75	(2808.25)	55.4%	YES-17, 19 YES-20GV-3		Submitted	No Financial JTE	Troop	22	Воу
		\$100.00	(3925.00)	2.5%	YES-19 YES-20GV-16		Online	No Financial JTE Recharter	Troop	53	Boy
		\$75.00	(6050.00)	1.2%	YES-19 YES-20GV-1		Submitted	No Financial JTE	Troop	57	Boy
		\$0.00	(875.00)	0.0%	New Unit-formed 2019		Online	No Financial JTE Recharter	Troop	57	Girl
		\$175.00	(3675.00)	4.5%	YES-18		Submitted	No Financial JTE	Troop	68	Воу
		\$375.00	(850.00)	30.6%	New Unit-formed 2019		Not online	No Financial JTE Recharter	Troop	68	Girl
		\$150.00	(3175.00)	4.5%	NO		Submitted	No Financial JTE Camping	Troop	71	Boy
		\$0.00	(350.00)	0.0%	NO		Not online	No Financial JTE Recharter	Troop	98	Воу
\$430.65	\$795.00	\$3,395.65	(1854.35)	64.7%	YES-17 YES-20GV-17		Submitted	No Financial ITE	Troop	122	Boy

District	Unit Type	Unit #	Scouts BSA Unit Type	Chartering Org	Number of Scouts at 2020 Recharter	Per Scout Partnership Goal	Unit Partnership Financial Goal	2020 Friends of Scouting (paid)	2020 Friends of Scouting (pledged but not yet paid)	Beef Jerky Proceeds towards Partnership Goal
Sangre de Cristo	Crew	20	N/A	Kiwanis Club o	8	\$ 175.00	\$1,400.00			
Sangre de Cristo	Crew	2112	N/A	Gorham Scout R	21	\$ 175.00	\$3,675.00			

Popcorn Proceeds towards Partnership Goal	Gondola Patrol Proceeds towards Partnership Goal	Total Jerky/ Popcorn/ GP/FOS toward Goal (does NOT include FOS pledged but not paid)	Delta from Unit Total Goal	Pct of Financial Goal	Gorham/ Council Day Camp within 3 years? 2017, 2018, 2019	2020 JTE Medal Level	Charter Posted Date	2020 Partner	Unit Type	Unit #	Scouts BSA Unit Type
		\$0.00	(1400.00)	0.0%	YES-2019 JTE #4: Gold		Submitted	No Financial JTE	Crew	20	N/A
		\$0.00	(3675.00)	0.0%	NO		Not online	No Financial JTE Recharter	Crew	2112	N/A